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PROBLEM 1 — Multiple Choices (30 points):
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PROBLEM 2 — Management Assertions (4 points):

Fi

[PART 1] Intematlonal auditing standards and AICPA audmng standards classify all management assertions
into three categories. What are they? Out your answers in the following blanks. (1.5 points)

(I) Assertions about (II) Assertions about ' (II) Assertions about

[PART 2] The following are management assertions specified in International auditing standards and AICPA

auditing standards:
a) Occurrence f) Existence j) Occurrence and rights and obligations
b) Completeness g) Completeness k) Completeness
¢) Accuracy h) Valuation and allocation 1) Accuracy and valuation
d) Classification i) Rights and obligations m) Classification and understandability
e) Cutoff

For each of the following audit objectives (#1~#5) related to various transaction cycles, indicate its related
management assertion (as listed from (a) to (m) above). (2.5 points)

No. ‘ Audit objective Assertion
#1 | Sales transactions are recorded on the correct dates.

Existing inventory items are included in the inventory

#2
listing schedule.

3 Inventory items in the inventory listing are stated at
realizable value. ‘ '

Accounts payable in the accounts payable listagree
#4 | with related master file, and the total is correctly added
and agrees with the general ledger.

45 Financial and other information are disclosed fairly and

at appropriate amounts.

PROBLEM 3 — Unrecorded Liabilities (S points):

To satisfy the completeness audit objective of the accounts payable balance and to emphasize the possible
understatements in liability accounts, auditors often perform out-of-period liability tests.

Required: Describe five typical audit procedures used to discover unrecorded payables?
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PROBLEM 4 ~ Analytical Procedures (5 points):
The follow{ng statements describe the analytical procedures performed in an audit engagement.

a. As long as auditors have obtained sufficient evidence supporting their final review for material
misstatements or financial problems not noted during other testing, auditing standards do not require
auditors to perform analytical procedures during the completion of the audit. '

b. When performing analytical procedures during the final review stage, a partner considers the adequacy of
evidence gathered about unusual or unexpected account balances or relationships that were identified
during planning and while conducting the audit, but not those previously not identified in the audit
documentation and financial statements.

c. Results from final analytical procedures in Phase IV of an audit may still indicate that additional audit
evidence is necessary.

d. Analytical procedures performed in the Phase III of a financial statement audit are often called substantive
analytical procedures, but arc not mandated for all audit engagements.

e. When auditors plan and design an audit approach based on risk assessment procedures in Phase I of a
financial statements audit, the analytical procedures, though optional, are helpful to assess client business
risk and inherent risk.

Required: Indicate all the correct statements (may be more than one).

PROBLEM 5 — Subsequent Events (5 points):

There are two tj;pcs of subsequent events that require consideration by management and evaluation by the
auditor. Type I are those that have a direct effect on the financial statements and require adjustments of account
balances in the current year’s financial statements if the amounts are material. Type II are those that have no
direct effect on the financial statement amounts but for which disclosure is required. Any subsequent discovery
of facts does not belong to either one of the two types. Assume the financial statements are for the year ended
12/31/x4. The audit report was dated 3/11/x5 and issued on the same day.

Required: For each of the following events, indicate its proper type as L, II or Neither.

a. The settlement of litigation on 2/8/x5 at an amount different from the amount recorded on the books.

b. A decline in the market value of inventory as a consequence of a government sanction, announced on
2/15/x5, barring future sale of a product.

¢. Declaration of bankruptcy on 1/29/x5 by a customer with a material outstanding accounts receivable
balance because of the customer’s deteriorating financial condition.

d. The client reported a material misstatement of the financial statements to the auditor on 4/12/x5.

The uninsured loss of inventories as a result of a fire on 3/1/x5.
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PROBLEM 6 — Related Parties (16 points):
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PROBLEM 7 — Internal Controls {12 points):

Georgia Beemster, CPA, is auditing the financial statements of the Louisville Sales Corporation, which
recently installed a computenzed payroll processing system. Each number in the flowchart on the next page

identifies a control point in Louisville’s computerized payroll system:
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Required:

1

List the control points and, for each point, describe the type of internal control procedure that should be
implemented (2 points for each control point).

PROBLEM 8 — AUDIT SAMPLING (23 points)

Buy and Best, CPAs, is engaged to conduct the audit of Radio Hut, a retailer of electronic and other
high-technology products. Because of technological advances in Radio Hut's inventory products, an important
risk that it faces is that prices charged by suppliers reflect current industry prices (which tend to fluctuate
relatively significantly, particularly as new technologies are introduced and as older technologies are
discontinued). The nature of Radio Hut's inventories is such that a small number of suppliers exist and each
supplier has a similar pricing structure. This pricing structure is reflected in an electronic industry pricing guide,
which is updated on a daily basis.
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You are an audit staff at Buy and Best and have been asked to identify a potential audit approach to
address this risk. In the past, your firm has decided to place relatively limited reliance on internal control policies
related to Radio Hut's purchasing function and has instead conducted relatively extensive substantive procedures
related to its inventories. However, the new partner on the Radio Hut engagement has successfully reduced
substantive procedures for the other clients in the retail industry by performing more extensive tests of controls.
Because of previous experience in the industry as well as having used this audit approach successfully for other
clients, the new partner asks you to evaluate the possibility of using more extensive tests of controls in auditing
Radio Hut.

The following controls are relevant to Radio Hut's processing of vendor invoices:

(a) Similar to most retailers in the industry, Radio Hut has a highly automated inventory monitoring and
control system. Based on anticipated product life, current sales, and existing inventory levels, Radio Hut

generates an automatic purchase order when inventory levels reach predetermined thresholds.

(b) Once a purchase order has been generated, the store manager reviews it prior to transmitting it to the
appropriate vendor. This review ensures that the vendor is from an approved list and that the proposed

purchase is consistent with the store's objectives and near-term plans.

(¢) Upon receipt of the items, warehouse personnel prepare "blind" copies of a receiving report, noting the

quantity of each item received.

(d) Purchasing personnel verify the vendors' invoices by (1) comparing the invoice to a purchase order by
referencing the purchase order number on the vendor invoice, (2) comparing quantities on the vendor
invoice to quantities from the receiving report prepared by warehouse personnel, (3) comparing prices on
the invoice for reasonableness through reference to industry pricing data, and (4) mathematically verifying

i

the accuracy of the invoice.

These controls have been in place for a number of years, and Radio Hut has experienced relatively little
turnover in its purchasing and related functions. You did not observe any remediation or major changes with

respect to these controls or to Radio Hut's control environment during the past year.

' You reviewed prior year’s audit documentation, which was prepared by another audit staff who has since left the
CPA firm. Based on your review, you prepared the following notes:

(a) The control policy tested by the audit staff is the employee verification of the reasonableness of prices on the
invoices by placing a checkmark or other notation adjacent to the price on the invoice.

(b) Using an expected population exception rate (EPER) of 0.01, a tolerable exception rate (TER) 0f 0.07, and an
acceptable risk of assessing control risk too low (ARACR) of 0.10, the audit staff selected a sample of 55

invoices.
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(c) Tests of controls revealed three misstatements. Based on the sample size of 55 and the ARACR of 10.10, the
computed upper exception rate (CUER) was 0.118. Because this exceeded the TER 0.07, the other audit staff
reduced reliance on the control policy and conducted more extensive substantive procedures. '

Required:

(A) Comment on the appropriateness of the work done in the prior audit with respect to testing this control

policy. (4 points)

(B) Based on the results of tests of controls in the prior year, provide your initial thoughts regarding the viability
of increasing your reliance on this control policy in the.current year’s audit. (3 points)

[Note: Requirements (C)-(E) are unrelated to (A)-(B)]
(C) Refer to the AICPA attribute sampling tables on the next two pages of this exam. Assuming a sample size of
100 items, how many exceptions would be permissible for you to rely on this control policy using a 0.05 for

ARACR and a 0.06 for TER? (5 points)

(D) Repeat the above (C), now assuming that you decided to reduce your reliance on internal control and
establish a 0.10 for ARACR. (5 points)

(E) What does a comparison of your results in (F) and (G) tell you about the effect of ARACR on CUER? (3
points) What implication does your answer bear to the audit of Radio Hut’s purchasing cycle? (3 points)
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5 PERCENT ARACR

Estimated

Population

Exception Tolerable Exception Rate (in Percent)

Rate (in )

Percent) 2 3 4 5 6 7 8 9 10 15 20
0.00 149 99 . 14 59 49 42 36 32 29 19 14
0.256 236 157 17 93 78 66 58 51 46 30 22
0.50 * 157 117 93 78 66 58 51 46 30 22
0.75 * 208 117 93 78 66 58 51 46 30 22
1.00 * * 156 93 78 66 58 51 46 30 22

] 1.25 * * 156 124 78 66 58 51 46 30 22
1.50 * * 192 124 103 66 58 51 46 30 22
1.75 * * 227 153 103 88 77 51 46 30 22
2.00 * * * 181 127 88 77 68 46 30 22
2.25 * * * 208 127 88 77 68 61 30 22
2.50 * * - S 150 108 77 68 61 30 22
2,75 * . . * 173 109 95 68 61 30 22
3.00 * ¥ * * 195 129 95 84 61 30 22
3.25 * 2 o id b 148 112 84 61 30 22
3.50 * * < » o 167 112 84 76 40 22
3.75 * L L - 3 185 129 100 76 40 22
400 * * L * . x 146 100 89 40 22
5.00 * . i ‘ &2 ¥ * 158 116 40 30
6.00 * * i * * ¥ g & i79 50 30
7.00 * > * * * * * * * 68 37

10 PERCENT ARACR
0.00 114 76 57 45 38 32 28 25 22 15 11
0.25 194 129 96 7 64 55 48 42 38 25 18
0.50 - 194 129 96 77 64 55 48 42 38 25 18
0.75 265 129 96 17 64 55 48 42 38 25 18
1.00 * 176 96 17 64 55 48 42 38 25 18
1.25 * 221 132 717 64 55 48 42 38 25 18
1.50 * N 132 105 64 55 48 42 38 25 18
1.75 * * 166 105 88 55 48 42 38 25 18
2.00 * * 198 132 88 75 1 48 42 38 25 18
2.25 * * * 132 88 75 65 42 38 25 18
2.50 . * * 158 110 75 65 58 38 25 18
2.75 * * * 209 132 94 65 58 52 25 18
3.00 * hd * * 132 94 65 58 52 25 18
3.25 * * * * 153 113 82 58 52 25 18
3.50 * * * * 194 113 82 73 52 25 18
3.75 * * * hd * 131 98 73 52 25 18
4.00 * * * * * 149 98 73 65 25 18
4.50 * * * * . 218 130 87 65 34 18
5.00 * * * * * 160 115 78 34 i8
5.50 * * * * * * * 142 103 34 18
6.00 * * * * * * * 182 116 45 25
7.00 * hd * * * * * * 199 52 25
7'50 * * * * % * * * % 52 25
8.00 * - * * * * * * * 60 25
8.50 * * * * * = *® * - 68 32
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TABLE 14-9
5 PERCENT ARACR
Actual Number of Exceptions Found
sample Size 0 1 2 3 4 5 6 7 8 9 10
25 11.3 17.6 * * ¥ * * * * * *
30 95 149 19.6 * * * * * * * *
35 83 129 17.0 * * * * * * * *
40 13 114 15.0 183 * * * * * * *
45 6.5 10.2 134 16.4 19.2 * * * * * *
50 59 9.2 121 14.8 i7.4 199 * * ¢ - *
55 54 84 11.1 135 15.9 18.2 * * * * *
60 49 1.7 10.2 12.5 14.7 16.8 188 ¥ * * *
65 4.6 71 94 115 13.6 155 174 193 * * *
10 42 6.6 8.8 10.8 12.6 145 16.3 180 19.7 * *
75 40 6.2 82 10.1 118 13.6 15.2 16.9 185 20.0 *
80 37 5.8 1.1 9.5 11.1 12.7 14.3 15.9 174 189 *
90 33 5.2 6.9 84 99 114 12.8 14.2 155 16.8 182
100 30 47 6.2 7.6 9.0 10.3 115 12.8 140 15.2 164
125 24 38 50 6.1 12 8.3 93 103 113 123 132
150 20 3.2 4.2 5.1 6.0 6.9 18 8.6 95 103 111
200 15 24 32 39 46 5.2 59 6.5 12 18 84
10 PERCENT ARACR
Actual Number of Exceptions Found
Sample Size 0 1 2 3 4 5 6 1 8 9 10
20 109 18.1 < = * * S * * * *
25 88 14.7 199 v * X < Y * * *
30 14 124 16.8 @ * * ¢ * * * *
35 6.4 -10.7 145 18.1 * C G * * * LA
40 5.6 94 12.8 16.0 190 L = * * * *
45 5.0 84 ~ 114 14.3 170 19.7 3 * * * *
50 4.6 16 10.3 125 154 178 ¥ * * * *
55 4.1 6.9 94 11.8 14.1 16.3 18.4 * * * *
60 38 - 6.4 8.1 10.8 129 15.0 169 189 * * *
70 33 55 15 93 111 . 129 146 16.3 179 196 *
80 29 48 6.6 8.2 9.8 11.3 12.8 143 158 172 18.6
90 2.6 43 59 13 8.1 10.1 115 12.8 14.1 154 16.6
100 2.3 39 53 6.6 19 9.1 103 115 12.7 139 15.0
120 20 33 44 55 6.6 16 8.1 9.7 10.7 116 12.6
160 15 25 33 42 50 5.8 6.5 13 B0 88 95
200 1.2 20 21 34 40 4.6 53 59 65 11 76
—_— K AR 3 2L o




